



StudentName: _____

ExamDate: _____ ExamScore: _____

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{5}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right) + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{4}\right)^0 - \frac{1}{6} =$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{6} =$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{3}{5}\right)^0 - \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{5}\right)^0 - \frac{1}{4} =$$

$$\left(-\frac{1}{3}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{4}\right)^2 + \frac{2}{5} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{5} =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{2}{5} =$$

$$\left(\frac{1}{4}\right) - \frac{3}{4} =$$

$$\left(\frac{3}{4}\right)^3 - \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{6} =$$



StudentName: _____

ExamDate: _____ ExamScore: _____

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{3}{4}\right) = \frac{21}{64}$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{71}{216}\right)$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{2}\right) = \frac{9}{16}$$

$$\left(\frac{3}{5}\right)^3 + \left(-\frac{1}{6}\right) = \frac{37}{750}$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{1}{2}\right) = \frac{31}{64}$$

$$\left(\frac{3}{4}\right) + \left(-\frac{1}{5}\right) = \frac{11}{20}$$

$$\left(\frac{3}{4}\right)^0 - \frac{1}{6} = \frac{5}{6}$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{6} = \frac{49}{150}$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{1}{3}\right) = \frac{13}{36}$$

$$\left(\frac{3}{5}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{3}{5}\right) = \frac{76}{135}$$

$$\left(\frac{1}{5}\right)^0 - \frac{1}{4} = \frac{3}{4}$$

$$\left(-\frac{1}{3}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{29}{54}\right)$$

$$\left(-\frac{1}{4}\right)^2 + \frac{2}{5} = \frac{37}{80}$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{5} = \frac{9}{20}$$

$$\left(-\frac{3}{4}\right)^2 - \frac{2}{5} = \frac{13}{80}$$

$$\left(\frac{1}{4}\right) - \frac{3}{4} = \left(-\frac{1}{2}\right)$$

$$\left(\frac{3}{4}\right)^3 - \frac{1}{6} = \frac{49}{192}$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{11}{40}\right)$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{6} = \frac{19}{48}$$